FHRERHRRETHE FRHR

S/7E09H 18H N T 343, 900kg
HX FREEHEAE 281, 800kg
FmB IRFEHER | TEAZE GaiE FEH Eik B |BRFEHE HRFEE %
(kg) (kg) =iE B ZE

W A 15,000 |V 0 -— —-— -
Bt ER5| AR 10kg 15, 000 1,836 — 1,296
ICALCA 30,000 |V 0 -— -— -
HE*TE S| dtiEE 10kg 30, 000 — 2,700 -—
<L 6,000 |V 0 -— —-— -
Bt ER5| RER 12kg 6, 000 1,728 — 1,080
TRy 48,000 | Y 0 -— -— -
HE*TE S| HER 10kg 48, 000 1,404 — 972
EF5>NAED 6,000 |V 0 -— —-— -
HAXTE S| mARE 170g 6, 000 216 -— 184
nRE 10,000 (EY 0 -— -— -
HE*TE S| BEHRE okg 10, 000 2,700 — 1,296
125 2,000 (&Y 0 -— —-— -
izpopi ] N 100 g 2,000 — 108 —
LaX 18,000 BV 0 -— -— -
HE*TE S| RFER 10kg 18, 000 2,484 — 1,944
EpoY 15,000 &Y 0 -— —-— -
izpopi ] BEE 5kg 15, 000 —| 3,240 —
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B HI74E095 186 RIREHE 343, 900kg
HX REMEAS 281, 800kg
F&E HRFTHES R AHE AniE FEH Zik B [BREHE HRFcE4E
(kg) (kg) =B HE ZiE

LA EL 1,000 |[&Y 0 — — —
HAXTE S| N 150 g 1,000 — 324 -
AL & 10,000 |[&Y 0 _ __ —_
X ER 5| FHEE bke 10,000 2,376 —1{ 1,620
ADEET 1,000 [&Y 0 — — —
A% ER 3| REHE 200 g 1,000 86 — 65
J)—=2FRIND 1,800 |[EY 0 — - _
X ER 5| N 100 g 1,800 140 — 86
MEL 3,000 |[€Y 0 _ __ ___
A% ER 3| bisiE 10kg 3,000 —| 2,700 —
H=—LA X 1,000 |[&Y 0 — — —
Xt ER 5| EHE 4kg 1,000 2,160 —{ 1,944
=N N 3,000 |[¢Y 0 — — —
A% ER 3| FEE 200 g 3,000 — 216 —
AREED 0 |[&Y 0 _ __ —_
Xt ER 5| 0 — — —
FOIhE 50,000 |&75:% —- 50, 000 — - —_
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RIREHE 343, 900kg
R=E IREHESE 57, 100kg
F&E RFEEHEET | TEAE mig T Eh = By |BREHE ARFE& %8
(kg) (kg) =1E B =&

Py 5000 €Y of | - =
Bt ER5| EEdrale 10kg 5,000 -— 4,320 —
A 500 | U ol — 4 =
HE*TE S| 2hB =gl 10kg 500 — 4,860 —
gL—727)L—Y 1,000 |[&Y 0 -— —-— -
Bt ER5| M7 2UAh 17kg 1,000 -— 9, 940 —
NFF 3000 [€Y of | - —
HE*TE S| J4VEY 13kg 3,000 3,888 — 3,240
LE> 500 |€ Y of | 4 —
Bt ER5| F) 17kg 500 -— 8,100 -
L 30,000 |€Y I
HE*TE S| 27K LN 10kg 30, 000 — 4,860 —
RES 3000 |[€Y I R E—
M ERE] Elg RHE 350 g 3,000 - 594 -

ALY 2,000 €Y of — — -
HE*TE S| A—RAESU7 17kg 2,000 — 8, 640 —

AT 9T 1,000 | Y of — - —
Bt ER5| J4)EY 10kg 1,000 -— 4,320 —
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BRI 343, 900kg
RR RS E A S 57, 100kg
Er= REMES | mEAE S8 TEH =% | Bl |BENE IR 258
(kg) (kg) =iE H{E ZiE

<Y 100 | Y AR kg 100] 864  —] 216
AR ARG of — 4 =

4 I— 1,000 €Y ) S I E—
AR ERE | —a—U—5uF 35kg | 1000 —| 2651 —

ZOMEE 10,000 |25% - T I I —
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{AERE M E 343, 900kg
Z Dt REME AR 5, 000kg
FRE REHEH | =BH% oiE FEH = B |BRENE RS &4
(kg) (kg) =iE H{E ZiE
ZDith 5,000 (&A% - 5,000 —_— —_— —_—




